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Question no: 1
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English

1004 aphasaptbsssbibed
Which of the following is a prime number? R e +8 a7
A:5 B + mE 33
B: 15 wl ® 4 C 62
C:25 20 01

) ™A
. B E?& B R n
Overall | A: 87.3% | B: 3.9% | C: 6.7%| D: 1.8% | Invalid Answer: 0.3% | Not Attempted: 0.0%
Question no: 2
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English

A 'is a common factor of 3 numbers X, Y and Z.
Shown below are the prime factorisations of X, Y and Z.
X=2x3x5xA e
Y=2x2x3x3x5xA ol m o
Z=2x2x2x3x3xA

&0 mE 33%
Which of the following is DEFINITELY a factor of the sum X + | [** | % s ™ s r'-___ C 36z
Y +272? z g Y, M“MN“' ] D 18%

0 ekl "M-
A4 4 8 12 16 20 24 28 32 36 40
B:5
C:6
D:9
Overall | A: 9.0%|B: 33.8% | C: 36.2% | D: 18.8% | Invalid Answer: 2.1% | Not Attempted: 0.0%

Question no: 3
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English

1ilm m
Megha takes tablet A every 4 hours and tablet B every 6 hours. » o
How often will she take both the medicines at the same time? -
A: every 2 hours B . - uB 272
B: every 10 hours T C 53k
C: every 12 hours SR "'*"“M. D 5
D: every 16 hours 0 d Ry,

4 B 12 16 20 24 28 32 36 40

Overall | A: 12.9% | B: 27.1%|C: 53.9% | D: 5.7%| Invalid Answer: 0.3% | Not Attempted: 0.0%







Question no: 4
Skill: Integers and Rational numbers, Powers and Bases Paper Set: A, Medium: English

Numbers that can be written in the form mn where mand n are
integers and n is not equal to O are called rational numbers. 100

20 8 178
Which of the numbers in the list below are rational numbers? &0 mE 761
A:only -252 and 1 " _' i

only - an T i

B: only -252 and 0.3310 e ZE "‘-'*“”"'- g D %8
C: only -252, 0.3333.... (recurring) and 1 — T € e e
D: All of them are rational numbers.

Overall | A: 17.3% | B: 26.0% | C: 15.9% | D: 39.1% | Invalid Answer: 1.8%| Not Attempted: 0.0%

Question no: 5
Skill: Integers and Rational numbers, Powers and Bases Paper Set: A, Medium: English

1004
-4-(-5) = . 50 __——.'....-— 4oy
A -1 B0 .-_..- mE 75l
B:1 401w C 7
C:-9 20 :m'. ™ 0 4%
D 9 e -'\-M_;ﬁ *.nvq »

0 ey il
- Tr T T T

4 8 1z 16 20 24 28 32 36 40

Overall |A: 9.1%|B: 78.8% | C: 7.8%|D: 4.1%| Invalid Answer: 0.2% | Not Attempted: 0.0%

Question no: 6
Skill: Integers and Rational numbers, Powers and Bases Paper Set: A, Medium: English

Which of these numbers are equal? R

119 1 O. 1 -
1 119 119 1 o *a 37
A' L . : . G . mE 15%
. | .“'M

only 119 and 11 0 Bt i o, C 352
C: only 1° 119° and 1* 0 syt e TV

'
4 & 12 16 20 24 28 32 36 40

D: None of them are equal.

Overall | A: 37.2% | B: 18.4% | C: 35.0% |D: 8.9%]| Invalid Answer: 0.6% | Not Attempted: 0.0%




Question no: 7
Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English

If represents 75%, which of the following represents 125%?

100
A: 80 +n 2
’ 60 mE 10¥
L C 68%
2 :._+ 0 18%
B: 0 g M kA i
4 5 12 16 20 24 28 32 36 40
C:
D:
Overall Invalid Answer: 0.4% | Not Attempted: 0.0%
Question no: 8
Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English
What fraction of the shape below is shaded?
100
& A 2
LS mE i
40 . C &k
- 20 N - 0 a3
Al o P
B: 12 IR i e et
C- more than 12 4 5 12 16 20 24 28 32 36 40
D: less than 12
Overall D:83.4% |Invalid Answer: 0.2% | Not Attempted: 0.0%




Question no: 9
Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English

If the ratio of Ravi's age to John's age is 2:3, which of the ;:0 ,uu‘m -
following is definitely true about their actual ages? " N A 47
A: John's age is 112 times Ravi's age P a ™ mE 392
B: Ravi is a year younger than John * ™ “;::-'-._. C 6k
C: John is 3 times as old as Ravi 20 $taattes " D&
D: Ravi's age is half of John's age R I e e
4 5 12 16 20 24 28 32 36 40
Overall [{A: 47.4% |B: 38.8% | C: 6.4%| D: 6.8% | Invalid Answer: 0.7% | Not Attempted: 0.0%
Question no: 10
Skill: Mensuration - Area and Perimeter, VVolume and Surface Area Paper Set: A, Medium: English

A trapezium is divided into a square and a triangle as shown
below.

100 +

s ot

= 't +A 531
P o8 R 1] . “¢‘H mE 14%

40 . *ﬂ-‘ Co10%
Which of the following lengths, if known, would NOT be 20 :“ﬂjﬁ,f oo 0 20¥
sufficient to find out the area of trapezium? P ,m v, .
A: RS 4 8 12 16 20 24 28 32 3 40
B: PT
C:PQ
D: QR
Overall [A: 53.6% |B: 14.3% | C: 10.6% | D: 20.5% | Invalid Answer: 1.0% | Not Attempted: 0.0%

Question no: 11
Skill: Mensuration - Area and Perimeter, Volume and Surface Area Paper Set: A, Medium: English

Cuboid x and Cuboid y below are both made of 4 identical unit
cubes each.

10004

& A TH

I | | | &0 mE &
X
Y L C 764

What can be said about volume of x and y? N 0 o

A: Volume of x is greater than volume of y.

B: Volume of x is less than volume of y.

C: Volume of x is same as volume of y.

D: Volume of x and volume of y can’t be determined.

T T —
4 8§ 12 16 20 24 25 32 36 40




Overall | A: 7.2%(B: 6.6%|C: 76.1% |D: 9.8%

Invalid Answer: 0.4%

Not Attempted: 0.0%

Question no: 12
Skill: Mensuration - Area and Perimeter, Volume and Surface Area Paper Set: A, Medium: English

Shown here is atriangle with two of its sides as 9 cm and 4 cm
and a square of side 5 cm.

100

$ 2 i
> 50 - +A 25
9cm 5cm G 1‘;‘ " ...' mE 59%
41 ‘:_::‘.‘h C &%
+ +
Both the figures have the same perimeter. What would be the =0 = b, D &%
length of the third side of the triangle? R S T I i
A 5em 4 8 12 16 20 24 28 32 36 40
B:7cm
C:8cm
D: 13 cm
Overall | A: 25.6%|B: 59.2% | C: 8.4%|D: 6.3% | Invalid Answer: 0.5%| Not Attempted: 0.0%
Question no: 13
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English
Lines | and m are parallel. Which figure shows the correct angle
measurement?
I (o]
60
m 600 1[”]
A:
B .-'-'...-- + 107
1 = oy
) 600120 G0 . -..I BE 552
B: +0 y C 12
5 20 HinHyy, 0 o
' p n -_:H"'.. ol Liiae TP YPET PPN
60’ 4 & 12 16 20 24 28 32 36 40
C:
! 1207
m 60°
D:
Overall |A: 10.6% | B: 66.3% |C: 13.0%|D: 9.8%]| Invalid Answer: 0.3% | Not Attempted: 0.0%




Question no: 14
Skill: Basic Shapes, Geometry and Visual Estimation Paper Set: A, Medium: English

Anupam draws a triangle whose three sides are of length 5 cm

each. He finds that all the three angles of the triangle measure -
60° each. a——
&0 ..-l- #A 5
Now he draws a triangle all of whose sides are 10 cm each. I - RERE
Which of these is true about the three angles of this triangle? * o C 122
A: All the three angles will measure 30° each. 2 "':‘:'““*‘m 0 15&
B: All the three angles will measure 60° each. e I AT AT
C: All the three angles will measure 120° each. 18 1216 0 28 3 3 40
D: (We cannot say anything without measuring the angles.)
Overall |A: 5.9%|B: 66.2% |C: 12.3% | D: 15.2% | Invalid Answer: 0.5% | Not Attempted: 0.0%
Question no: 15
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English
Three equilateral triangles are inscribed in a circle with center O
as shown below.
////,’—_—\\\\\\ 100w
o & A 1
; 3 B0 mE ZY
W C 11
20 ‘- O S

Which of the three triangles are congruent?

A: triangles 1 and 2 only
B: triangles 2 and 3 only
C: triangles 1 and 3 only
D: all the three triangles

4 8

bbphoinich
12 16 20 24 23 32 36 40

Overall

A: 2.0%

B:2.6%|C: 11.1%

D: 84.1%

Invalid Answer

:0.3%

Not Attempted: 0.0%




Question no: 16
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English

1nli m wH
»*
50 TR +8 6LY
,‘ H
& n o + mE 173
This redacted item is not for public release. o - -
20 + "" 1 O 4%
0 -_:::'-.‘ — .-..'.'-.-.-.'"E."—"U.‘-::!.
4 8 12 16 20 24 25 32 36 40
Overall [A: 61.9% |[B: 17.2% | C: 16.4% | D: 4.3%| Invalid Answer: 0.3% | Not Attempted: 0.0%
Question no: 17
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English
100 muu,ﬂ#
&0 ”i A GO
According to the figure above, which answer is correct? &0 ‘,.“ g 53
. & it
. =a'h’ + 4 ahad C 172
A 20 :,_‘_..-.“ O 4
b._'-‘ —ca' O e R 1":"‘;:!1;5141*355-1_
B: 4 8 12 16 20 24 28 32 36 40
CZ s albl
C:
p- @ =cb
Overall |A: 68.9% |B:8.2%|C: 17.5%|D: 4.2% | Invalid Answer: 1.2%| Not Attempted: 0.0%










Question no: 18
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English

Of the pieces shown here, which two could form a semicircle
when placed next to each other with their edges touching?

%
/n ;:ui‘ .-. +A SE
T § % W e C 8z
) ’ 2°| \"A‘::.‘w.\ 0 182
w X Y Y4 u ;1;:*-._'_'_';'%“?%\:';._-. “
A:Zand W 4 8 12 16 20 24 28 32 36 40
B: WandY
C:YandZ
D: Zand X
Overall [A: 8.7%|B: 64.4% | C: 8.3%|D: 18.3% | Invalid Answer: 0.3% | Not Attempted: 0.0%

Question no: 19
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English

If MNP is a right-angled triangle with ~M = 90°, which e -
answer is correct? > ___."' th 172
A: MP = NPsinP B, - mE 45
B: MP = NPsinN T et C 16d
C: MP = NPcosN ] el b 162

. —_ 0 i T T T T T T TH i
D: MP = MNcotN _: 8 12 16 20 24 25 32 36 40
Overall |A: 17.2%|B: 48.2% |C: 16.8%|D: 16.2% | Invalid Answer: 1.6%| Not Attempted: 0.0%

Question no: 20
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English

Given is the circle with O as the central point, diameter AD,
AC > AB.

¢ . SSSSSS

y 1nn|. ‘u.

&0 | . ‘t‘ +A 3L
B 81 I , K mE 103
it

Which angle equals to one half value of 2BOD? N e -
A: 2BAO \ | m“;"m&-—l"-zxxw‘*_'
B: zOAC 4 8 12 16 20 24 28 3 36 40
C: zAOB
D: £COD
Overall |A: 34.7% | B: 10.4% | C: 37.8% | D: 16.5% | Invalid Answer: 0.6% | Not Attempted: 0.0%




Question no: 21
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English

Given are 3 random points M, N, P. Which following

—_—
answer equals to MN, wols .
) Eg+ M’) E . #f 31
A: &0 " pa mE 34
N . —3 ™ n
] — PM * * Foay g C 21
B: P]\r P .[ o1 & — G § 0O 11%
— — 2 U i .I T T T T T T' e
C: MP — PN 4 8 12 16 20 24 28 32 36 40
D: PM - PN
Overall [ A: 31.5%|B: 34.6% |C: 21.6%|D: 11.8% /| Invalid Answer: 0.6% | Not Attempted: 0.0%
Question no: 22
Skill: Algebra: concepts and applications Paper Set: A, Medium: English
Ifa+2b=5and c =3, 100w
& . LI
calculate: a+2(b +c) ) . mE Z5%
A: 14 40 " !-.-..,, C 13
B: 8 20 = 0 54
C: 12 I R s v
D:11 4 & 12 16 20 24 25 32 36 40
Overall | A: 6.1%|B: 25.6% | C: 13.0% | D: 54.6% | Invalid Answer: 0.7% | Not Attempted: 0.0%
Question no: 23
Skill: Algebra: concepts and applications Paper Set: A, Medium: English
Class 5A has 45 pupils, 27 of whom are female. Male pupils ||, . .
are in charge of sweeping the leaves off the school yard. It o PO
takes them 1 hour to finish the task. If the whole class did o *A 308
it together, how long would it take to finish the task? o et B 262
. : 41 i s C z7d
A: 24 minutes T it
B: 27 minutes 2wttt - = D &k
C: 45 minutes P iy
D: 60 minutes 4 8 1z 16 20 24 28 32 36 do
Overall [A: 35.5% |[B:29.1% | C: 27.5% | D: 6.6%| Invalid Answer: 1.4% | Not Attempted: 0.0%




Question no: 24
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

108 ..-.—l_
5 452
. . . ) Bl -'... mE 323
This redacted item is not for public release. ol M " i
21 i,;”"; D &
Miailes
0 el RS s s e Mty

4 8 12 16 20 24 28 37 36 40

Overall | A: 5.5%(B: 82.3% |C: 3.0%|D: 9.0%]| Invalid Answer: 0.2% | Not Attempted: 0.0%

Question no: 25 [ Dropped ]
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

Which figure expresses the root set of inequality 2x > 6?

0 3
A:
1 WIREREREAN
T riAl TV l/
0 3
B:
0 6
C:
0 3
D:

Overall |A: 11.0% | B: 15.4% | C: 31.0% | D: 42.1% |Invalid Answer: 0.6%| Not Attempted: 0.0%

Question no: 26
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

The polynomial A =123y + 84y° + 6y is divisible by: ||
A: 2% B, A 20%
B: 2x2y & WG 137
. 40 Co2d¥
g': g;(zy 20 D 402
TR

Overall |A: 21.1% | B: 13.0% | C: 24.8% | D: 40.4% |Invalid Answer: 0.8%| Not Attempted: 0.0%




Question no: 27
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

A certain common formula converts the numbers in Box 1 to the
corresponding ones in Box 2. Another formula then converts the
numbers in Box 2 to the corresponding ones in Box 3:

1 > 3 > 9

2 > 6 >12

3 > 9 >15

4 > 12 > 18 100 im

5 > 15 > 21 &0 A B

. : : . mE 23

: : : 41 o 49%
L_m—] : =2 e

Box 1 Box 2 Box 3 “ o ’“Mm;::"' 17t
0 kb — T T T T 1 T
If we wanted to convert a number m in Box 1 directly to the ‘B lele v aE a0
corresponding number in Box 3, we could use the formula
AI3m +2
B:3m x 3
C: 3(m+2)
D:m+2x3
Overall |A: 8.8%|B: 23.2% [C: 49.7% | D: 17.3% | Invalid Answer: 1.0% | Not Attempted: 0.0%
Question no: 28
Skill: Algebra: concepts and applications Paper Set: A, Medium: English
For any numbers x and y such that x = 70 + y, what can be said 10004
about x and y? 50 8 7L
A x=y Bi mE 5
B:x<y 40 C 51
C:x>y _ 20 ‘3":. —
D: None of the above can be said as the exact values o bt
Fcketuol e

of x or y are NOT known. 4 5 12 16 20 24 28 32 36 do

Overall |A: 7.4%|B: 8.5%|C: 51.4% | D: 32.2% | Invalid Answer: 0.6% | Not Attempted: 0.0%




Question no: 29
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

y + 10 < 10. Which of this is DEFINITELY true?
A:yis any negative number.
B: yis a positive number less than 10.
C: y has to be a negative number less than -10.

D:y + 10 cannot be less than 10 for any value of y.

100
;‘#“"“‘*‘
&0 A m‘;
£}
G0 A
] H‘
41 I ‘¢
[
20 "“Fﬁ%[i*
L T '
0 el ARL i e
4 8 12 16 20 24 25 32 36 40

A B3
mE 10%
C 13X
O 12%

Overall

A:63.1%

B: 10.5%

C:13.2%

D: 12.8%

Invalid Answer: 0.4%| Not Attempted: 0.0%




Question no: 30
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

Which graph of the line represents the equation y = 3x — 1?

\‘
EEY R
2]

100

by 50 +h 152
60 . mE 11%
B: +0 C 5o
' : a0 | mleteaiten,, " D 13
R .,
: 4 & 12 16 20 24 28 32 36 40
C:
D:
Overall | A: 15.4%|B: 10.8%|C: 59.7% | D: 13.4%| Invalid Answer: 0.7%| Not Attempted: 0.0%
Question no: 31
Skill: Algebra: concepts and applications Paper Set: A, Medium: English
The line representing y = 3x + 2 will intersect with the line ||’ o
representing which equation? = o +h 208
s — B0 . mE 473
A. y - 3X e l-.-
B:y=-3x+4 # 80 g C 16
C:y=3x+5 20| LKA Pitthnde . D 15%
. —_ 0 .-2‘I- T T T T T Tv J\:'.“I'w:'*-'. |
D:y=3x-1 4 8 12 16 20 24 28 32 36 40

Overall [ A: 20.2%|B: 47.5% | C: 16.7%|D: 15.2% | Invalid Answer: 0.6% | Not Attempted: 0.0%




Question no: 32
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

The distance from A to B is 270 km. A car travels from A toB at a

speed of 60 km per hour. On the way, it stops to take a break at C e ‘u‘“‘
at 3 pm. C is 90 km distance away from B. What time did the car |[*" I A dzi
start from A? “1 m ‘ﬂﬂ mE 18%
A: 12 o’clock wloe ﬂ. et C 182
B: 12: 30 W peE s D 197
C' 1 pm u '-:."M' 2 T T T T |‘.u.:x|“ *——-I
D:1:30 pm 4 8 12 16 20 24 28 32 36 40
Overall |A: 42.9% [ B: 19.0% | C: 18.5% | D: 18.9% | Invalid Answer: 0.8%| Not Attempted: 0.0%
Question no: 33
Skill: Algebra: concepts and applications Paper Set: A, Medium: English
10004
Equation x> —2x +m—1= 0 has roots when and only when: s +f 352
A:m>2 IR mE 197
B:m>2 YR R PP T Y C 163
C:m<2 20 ‘-"."’":"-"' T of 0 27X
D:m<2 5 db da
4 8 12 16 20 24 28 32 36 40
Overall | A: 34.8% | B: 19.9% | C: 16.5% | D: 28.0% | Invalid Answer: 0.8%|Not Attempted: 0.0%
Question no: 34
Skill: Measurement, Data Interpretation, analysis and graphs Paper Set: A, Medium: English
The pie chart shows the proportions of books in the library. Of
these books, 31% are maths books, 25% are Vietnamese books.
There are 132 books in the library that are neither maths
nor Vietnamese books.
. . 10034
How many maths books are there in the library? a0 8 137
60 mE 39¥
R | C 382
K -
20 Wby, D 6%
0 g te J‘“‘M
4 8 12 16 20 24 28 32 36 40

A: 31
B: 44
C:.93
D: 132

Overall [ A: 14.0% | B: 39.3% | C: 38.8%

D: 6.8%| Invalid Answer: 1.1% | Not Attempted: 0.0%




Question no: 35
Skill: Applications in daily life, commercial Maths, word and visual problems Paper Set: A, Medium: English

A group of 10 friends have some marbles with them.

If they had 3 more marbles, they would be able to distribute the
marbles equally amongst themselves.

Which of these could be the number of marbles they had?

A: 13
B: 20
C:33
D: 47

100

1]

1]

40

20

*ﬁqith:ﬂnFu\h.

4 8 12 e 20 24 28 32 36 40

A L2
mE Z7E
C 12
0 45d

Overall |A: 13.0% | B: 27.8% | C: 13.0% | D: 45.9% |Invalid Answer: 0.3%| Not Attempted: 0.0%

Question no: 36
Skill: Applications in daily life, commercial Maths, word and visual problems Paper Set: A, Medium: English

Rahul's father is 6 times as old as Rahul. Rahul's mother is 25
years old. The average age of this family of three is 20 years.
How old is Rahul?

A: 15 years
B: 10 years
C: 7 years
D: 5years

ina

an

=1

40

20

0 e

.ﬂv

E R
-

s i -
4 8 12 16 20 24 28 32 36 40

LI
mE 10F
Coiz¥
0 &7%

Overall | A: 9.4%|B: 10.1% | C: 12.2% | D: 67.5% | Invalid Answer: 0.8% | Not Attempted: 0.0%

Question no: 37
Skill: Applications in daily life, commercial Maths, word and visual problems Paper Set: A, Medium: English

A sheet of paper is 0.012 cm thick. What would be the height of
a stack of 400 sheets of this paper?

A:0.048 cm

B:0.48 cm

C:48cm

D: 48 cm

ina

an

=1

40

20

L]

+

*-{ﬁaublfﬂgkﬁ&haﬁkmﬂmn“

Eetainby T iy

4 & 12 15 20 24 28 32 36 40

A 13
mE 12%
Coeld
0 11%

Overall |A: 13.8% | B: 12.6% | C: 61.5% |D: 11.6% | Invalid Answer: 0.5%| Not Attempted: 0.0%




Question no: 38
Skill: Reasoning and Problem Solving (Advanced or challenging problems) Paper Set: A, Medium: English

Observe the number pattern in the number triangle above. If it is
extended, what will be the last number (on the right) in

the 9™ row?

A: 25

B: 36

C:61

D: 81

1004
=11]
=11}
30
2o | gl

"= 5’;’3.:’:’#“;igf‘ﬂ‘*'r
L T T T T (e

4 8§ 12 16 20 24 25 32 36 40

LI
mE 11%
Co12%
0O &9

Overall | A: 6.1%|B: 11.2% | C: 12.6% | D: 69.7% | Invalid Answer: 0.4% | Not Attempted: 0.0%

Question no: 39
Skill: Reasoning and Problem Solving (Advanced or challenging problems) Paper Set: A, Medium: English

A field PQRS is in the shape of a quadrilateral.

[

Q

(Note: Figure not to scale.)

If you walked from Q to P to S to R along the boundary of the
field, you would have covered 140 metres. If you walked from P
to S to R to Q along the boundary of the field, you would have
covered 135 metres.

Based on this, which of the following can you conclude?
A:PQis 5 mlonger than QR

B: QR is 5 m longer than SR

C: PSis 5m longer than PQ

D: the perimeter of the field is 275 m

100 "‘“
gn *
#;“'
=11 Y
¥
+
40 =] ".
20 g aiate
4 v‘.’“ e ﬁrh" g
T
0 ot Ediziet

T T T T T T U
4 8§ 12 16 20 Z4 25 32 36 40

A 33
mE 27
C o154
D 21%

Overall |A: 33.8% |B:27.7% [ C: 15.7% | D: 22.0% | Invalid Answer: 0.9%| Not Attempted: 0.0%




Question no: 40
Skill: Applications in daily life, commercial Maths, word and visual problems Paper Set: A, Medium: English

80 girls and 100 boys appeared for the class 10 board exam from
Pratibha School. 25% of the girls and 10% of the boys who

appeared got A grades.

What percentage of the total number of students who appeared

got A grades?
A:16.70%

B: 17.50%

C: 25%

D: 35%

00

an

=30

410

#A 25E
mE 12%
Co11¥
0 g9

m
21
WuqdeWhalf*ﬂ*'ﬂa !n;"
o 4 E 12 16 20 24 28 32 36 40

et

Overall | A: 26.0%

B: 12.5%

C:11.9%

D: 49.2%

Invalid Answer: 0.4%

Not Attempted: 0.0%

Note: For each question, options marked with RED letters shows % of students who gave wrong answers, options
marked with GREEN letters shows % of students who gave correct answers.




